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Skill: Solve 1-step problems using multiplication (sharing) Year: 1/2

20 Children solve

| problems by sharing
amounts into equal

@@@@@ o YA Y A B groups.
T
In Year 1, children use
concrete and pictorial
There are 20 apples altogether. representations to
They are shared equally between 5 bags. solve problems. They

are not expected to
record division

. . . . . formally.
ee088 (1(ULENEY i
introduced to the
. . . . . 20 = 5 = 4 division symbol.
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How many apples are in each bag?




Skill: Solve 1-step problems using division (grouping) Year: 1/2

Children solve
problems by grouping
and counting the
number of groups.
Grouping encourages
children to count in
multiples and links to

There are 20 apples altogether. repeated subtraction

They are put in bags of 5. } on a number line.

They can use
How many bags are there? Y
concrete

O O o O O O O 0O representations in
O OOO OOO OOO fixed groups such as
e_©° number shapes which

Q0000 helps to show the link

Q0000 between
20+-5=4 multiplication and

20000 division.
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